BKGERISEm AL 7\ R

WATERPROOF THIN FLAT SWING HANDLE

@PAT.PEND.

/4

AB-401-1

AB-403-2

AB-401-1B AB-402-1B

*—%5,H200
Key No.

xE—2& LIAGIKE

29

0[O |:=
LA AN 4
stock | roris A BAZK

# A OMUNIEISIEDEETORITEN12.50#EHE
Feature Hi44 7~
O KRGREN) T /Ny FF PIKEHRELROTULE

ER
o EEFRAREH (EANKEIL. LD EERBERE
BRLEY)

® Ultra-thin structure, the distance
between the installation surface and the
stopper plate is only 12.5mm.

® Adopt waterproof structure sheet
packing and reverse side of handle.

® The special design of two-way (left and
right) to rotate concurrently (according
to the direction change, stopper plate
and adjusting washer can be turned).

# H oA/ ® (ZDC)

FELIE e Y FSAN/OLDHOE KEB:HfTEE

2] i o FiER-HER IR ZDh&EBOX

fi = o X—%S 'H200

Material @ zinc alloy (ZDC)

Finish eSatellite chrome plating/B: Baked finish

Application ® Voltage transformer, switch box, section
board, control cabinet, and other
various kinds of control cabinets

Remarks @ Key no / H200

HAREDILDHEBHTRARIIE ARABFIED % [FEAB5IEH |
DERZHRBLEY

m B fa & B E(@)| A #& - ]
Product No. Remarks Weight Lot Price
AB-401-1 BfHE 341 40 ¥1,600
AB-401-2 gL 350 40 ¥1,450
AB-402-1 BfFE 243 56 ¥1,500
AB-402-2 fics 408 249 56 ¥1,350
AB-403-1 B 188 80 ¥1,400
AB-403-2 SERL 190 80 ¥1,300
AB-401-1B | 2% /8% 350 40 ¥2,100
AB-402-1B | 22%/#F& 243 56 ¥1,800
AB-403-1B | 2% /8% 188 80 ¥1,600

Oy MERTIREER] Installation diagram of rods bar

LIN—D5%ImEHL LR EICEVBRIETEET,
Only by pick up the lever of handle and it will be ok.



AB-401-1 G—thwith key
AB-401-2 (¥—#&) Without key

85 14 27 72
352 BAAK/Syx>/11.5 40|
: Waterproof packing | M6X12 ‘ 2-¢p4.2
o _ /’*%f%ﬁ
M o g L
B o pil Ef—)u 7 o
0 7 , <
[ { / &)
E$5 A E90° v — =
Turn 90° v M. €
« ‘ REEES ©
A i (11.6) s
| Adjustment O 18
i1 washer ® <>
LU
i c i N! ZN
D k% / C-44-1 = © Kﬂ
T~ £ <
‘ ! étt3.2) ot ‘ 2-M4x10 ‘
i opper plate |/ ‘
L/ b& N N |
BT iR H-200%F+x—
Installation plate 26 Key No.
AB-402-1 - with key
AB-402'2 (+—#&) Without key
7.5 12.8 27 ™ 65
30 BhAK/¥yx>/11.0 40
Waterproof packing W M5x10 ‘ ?£ 2-¢4.2
0 B W {
—~ 1 Y i [©)
-+ N 1i ]; -3
NHE . q L
I AN = k Pain
E&RE0T | ]
1 Tun 90° S Nmzme 8 | g
& | (t1.6) @
i - 111 Adjustment BN
. dlk  washer \
,,( g}, 2-M4x8 ©
| P 1% / C-44-2 : ¥
NUHD% (12.3) I
Wy Stopper plate \4/ !
BT IR 23 H-200%F%—
Installation plate Key No.
AB-403-1 ¢—with key
AB-403-2 —m without key
7.5 12.8 27 r 65
28.5 BA7K/ Y% /11.0 40
Waterproof packing M5X10 ‘
| 0 |
N ivare
N e o - -
e % 3 “3#
|| me=mmeor § [{ pErE
,,{ = Tun 90 Adjustment
T | washer
Nl BUfHHR

K

Installation plate

k% / C-44-2(12.3)
Stopper plate

H-200&x—
Key No.

AWBAKLE

WA A L
Dimension of mounting hole avy
L'/N— — Revolving central
El#EzeR/D  \ position of handle
|
0
! _I &
i
~

SEARRE. 11.0~2.3mm
Panel thickness applicable to install

WEfT T
Dimension of mounting hole

L/N—
EEz

Revolving central
position of handle
|

I

96

|
|
|
|
|
|
|
24

EAEREE 11.0~2.3mm
Panel thickness applicable to install

WE ot iE

Dimension of mounting hole

LN—
EIEAC NP

Revolving central
position of handle

63

SEAEREIR. t1.0~2.3mm
Panel thickness applicable to install

30



